
Venus - Answers   

Week 12 (08.06.20)                        

                                                                      

Literacy 

Make Me a Plural! 

• Potato – potatoes 

• Calf – calves 

• Tomato – tomatoes 

• Blueberry – blueberries 

• Strawberry – strawberries  

• Tractor – tractors 

• Sandwich – sandwiches 

• Raspberry – raspberries 

• Scarecrow – scarecrows 

• Hoof – hooves  
 

Numeracy 

Farm Shop Food 
1. £1 x 2 or £2 or 50p x4  
2. 100g = £2.20 so 200g = £4.40  

       (You could count out x4 £1 coins and x2 20p                
coins) 

3. £10 – 7 = £3 
 
 
 
 
 

How Much Did It Cost? 

The total cost of the ice cream and crisps is £1.80 

Other 

 
 
 
 
 
 
 
 
 
 
 
 
 

 


